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1. The drawing print is a folded that the 1s always on top.

(A) Drawing

(B) Folding mark
@7 Title block

(D) Centering mark

(E) Answer not known

QuenTLIL gnmm wi&GLGUTE Cula Asflybuiguirg G més Ceuargwis
(A)  euenguLLD

(B) Gurongm wrié

O) ariged ems

(D) Qséngfm wrié

(E) &Moo Qgfweldme

2.  Find the size of the letters used in the title of drawing.

(A 8-9mm
B) 12-13mm
C) 3-5mm

W 6 -8 mm

(E) Answer not known

auenyuLSHD L igelléd eTpsLiL@B MLy er(dgissailen sierey ‘asdcr@tﬁﬂq.
A) 8-94.8 |

(B) 12-13 4.8

©) 3-58.8

D) 6-8.8.8

(E) e&err QsAweldrenaw
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3. Match the following : :
List I | List II
(a) Title block 1. Proportion
(b) A sketch is considered :
to be good when its
features are shown in
correct 2. Zones
(c) For locating a portion
of a drawing, the sheet
is divided into a number

of : 3. 185 mm x 65 mm
(d) Horizontal lines are : |
sketched h 4. From Left to right

@ ® © @
A) 4 1 2
B) 3 4 - 2
3 1 2
(D) 4 2 1

- (E) Answer not known

W = W

Qereu(meuameupanpLs ClLimmssis

ulique I uiguied 11
(a) seouy GsrEd 1. &dlswb
(b) @m Qs & gar DELD 2. T mkigET

sflurengrs arl @b Gurg
BOOSTE &(HSLILGHLD.

() eaeyuLsdear @@ uGHaws 3. 185 0.8 x 65 8.8
samLMeus @, STET e Ts
GRssLILES DS

(d) de_wiL Gar@sdr cuamguliuBeug 4. QLINMBES uLTE
@ ® @© @

A) 4 1 2

B) 3 4 2

€ 3 1 2

D) 4 2 1

(E) e Qgflweldana

W B = W
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4.

Using 30°-60°-90° and 45°-45°-90° set squares, which of the following
angle is not possible to draw? ,

(A) 45° . (B) 30°

W 10 - (D) 90

(E) Answer not known

30°-60°-90° whmibd 45°-45°-90° g dw @Qren® Ww&GaTeart L L tismars Qameir(®H
SpsarL Caramsens e (HauTds (PG ? '

(A) 45° (B) 30°

(C) 10° (D) 90°

(E) oen Qg,rﬂu_uaﬁld)d)m

Can computer replace the drawing board and equipments as learning -
tool

W( Necessary software and hardware is available it can be replaced

(B) Yes it can replace as learning tool
(C) No it cannot replace as learning tool

(D) In some cases it can be replaced and in some cases it cannot be
replaced

(E) Answer not known

QeIUL L@as WHmb 2 USIeThEEHEE WwIHnTs &sdmed gsmelwns senflaf

QeweuBHFgemLb.

(A) Cemawurar ae@Quimer - wpgd  Queatdurmer  @@bsTd  WLIHOTE
Qeweou@BSzemd.

B) @b Qg 86 spPD s

(C) Qoo @g sHpd smel Gdma

D) gnda sovwmsaied WLLED WIHOTSELD oo gowhisellé® WLIDTS .
QeweuSs WPiywrg

(E) e Gzsfweierensd

5 DMIT/2022
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6. T-square used for drawing only line.

(A) Vertical line
@( Horizontal line

(C) Curved line

(D) Inclined line

(E) Answer not known

T ewQamurr uwetu(hisS Camlh LB euaFwLaTLD,
(A) QsrissCsTEH

(B) eﬁ]ml_ééa;rr@

©C) amearasCamp

D) smueGar

(E) efer Qsfwefdama

7.  The Trimmed size of A4 drawing ‘paper as per Bureau of Indian
Standards (BIS) is

(A) 841 X1189 mm"

(B): 594 X841 mm

(C) 420 X594 mm
W 210 X297 mm

(E) Answer not known

Qidw gqﬁmwam veflussder Ly A4 amruLssreen QRSMOESILILL
D6 GTEHET?

(A) 841 >< 1189 9.8
(B) 594 X 841 4.8

(C) 420 X594 8.8

(D) 210 X297 4.8

(E) o&en Gz Mweldena

DMIT/2022 6 n



8.  Choose the wrong answer :

(A) T square —  to draw horizontal, parallel lines

(B) Set square —  to draw vertical/angular lines
(Z( Dividers —  to draw circles

(D) Protractors - —  to measure/mark angles

(E) Answer not knpwn

Qereumeuaraupdled ergl Fflwicen ?

Q) g-evQ@amwi - far_wol L, QeenGarhiaer uarelsHE
(B) epemewlLbd _ Qsrigssl. sTleurer Carhser eumreshE
(C) geei - aUlLEEET aumjeush©

(D) ureswraf - CararThiGar, @ﬁuugﬁ)@m, SETLILIGHEHLD

(E) ofen Qgsflweicranay

9.  For drawing circles with large radius tool is used.
(A) Bow compass
\ﬂf .Large size compass with lengthening bar
(C) Divider
(D) Protractors

(E) Answer not known

QuAL SieTaydTaT @yTEIGET QETRITL QUL L BISET eyl LwaTLRD euamrsha
(A) Querés &mbLE

(B) Quflu serederear smbueav-2 L6 Qaergefn Lim

€ geoaf

(D) ureswred

(E) &ler Qgfwefdrana

n _ 7 DMIT/2022
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10. The more accurate method of plotting a compass survey.

(A) Parallel meridian method

(B) Included angle method

(C) Papef protractor method

wr Rectangular co-ordinate method
(E) Answer not known

&mbuen srGeuamw QLLL&@@{Q)@&SNW Wsa|b @JGi)QS]lULDﬂ'GdT\ L))
(A)  @earwurer Quligwer oD

B) @éaEEs L Carar wap

(C)  andlg wQpmigréit wem

(D) Qeciaus grrdaariy apenm

(E) &fenr Qsfwafevena

11. Identify the local attraction source compass survey.

(A) Building

@f Steel structure

(C) Tree
(D) Plastic

(E) Answer not known

srbuey &rGai-e0 Camsaed L TTEQUGTESTERT & T[T 6w bl Sl

A) sigiib

B) @@ sy s ib
©) o

(D)  Qerrevigs

(E) e Asfueidama

DMIT/2022 8



12. A line representing a particular direction on the plan is parallel to the
direction on the ground is
(A) Centering
(B) Levelling
Orientation
(D) Focusing
(E) Answer not known

em Car @@ul_(ﬂl_l_ Hevsuiler o arer QurHaner Garrafled GHliug sangulien -
Sansdg @enenning @)(HEESLOTN HAMLLILSHS

A) evwuiu@sse

(B) swuu@psse

O AuaGLsar

(D) unigse

(E) oo Qsflueldena

18. Calculate the back bearing for fore bearing = 63° 30’
e 243° 30’
(B) 116° 30
(G 242° 30
(D) 115° 30
(E) Answer not known

wpearmed Gufis 63° 30 @shE Werarme Cuiim ghu@ Caread
(A) 243° 30

B) 116° 30

(C) 242° 30

(D) 115° 30

(E) e&eor Qsflueldrena

o 9 DMIT/2022
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14. Calculate 210° 80’ in whole circle bearing to quadrantal bearing
(A) N12°30'E | 7S 30°30' W
(C) N 174°34'W (D) S19°30' E
(E) Answer not known

210° 30" e Cuuiladladmbg arde’ L Cuufltians sarsdl®.
(A) N12°30'E (B) S30°30'W

(C) NT74°34' W (D) S19°30' E

(E) &l Qafwefidena

15. If the fore bearing of a line 1s 36° 15/, its back bearing will be
(A) 36°15 (B) 126° 15'
(C) 143° 45’ & 216° 15’

(E) Answer not known

em Carligear wper Cuflh 36° 15" erampred, igem Ger Cuiflm

& LD- ,
(A) 36° 15 (B) 126° 15'
(C) 143°45" (D) 216° 15’

(E) Mo Ggfueidame

16. Convert the RB N 85° 30’ W to whole circle bearing
(A) 85°30 (B) 14° 30’
(C) 275° 0 J}} 274° 30
(E) Answer not known :

N 85° 30' W arénp RB (sréveur L Cuflmiens) WCB (wpeulL Cuiltusns wrhmi)
(A) 85° 30 (B) 14° 30’

(C) 275°0' | (D) 274° 30’

(E) oo Qsflwefcrene

DMIT/2022 10 N



17. This compass is used for whole circle bearing

(A) Surveyor compass
\(B)’ Prismatic compass -
(C) Trough compass
(D) Compass level
(E) Answer not known
wpwewvwrer - el GCsrammigmer ahés
LwerUREpg!.
‘ (A)  srGeuwr smribL6L
(B) WAGwlyé smbLEy
(C) Ig-TesL1 STDLIG
(D) smbuev Qeveudd
(E) &Mer Qgflwueioama

18. A surwvey is conducted using angular measurements is

(A)

Levelling

@ Compass survey

©)
)

(E)

Tacheometric survey
Trigonometrical survey

Answer not known

Carent sjareneuserme Hlirammuils@n samsbs®Hiiy

(A)
(B)
©
(D)

(E)

WL SeTEMS

Havesar iy sams6sbH L
CL&8Cur@uwLMs sarmsCsmH Ly
@&Ga;rrm‘r@éﬂma) e

dlenL Qzflwelerena

11

STLDLIGY
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eraniui.
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19. survey in which field work and  ploting are done
simultaneously in the field.

(A) Compass survey - (B) Chain survey
Plane table survey (D) Engineering survey
(E) Answer not known

sargde (Field) seruenll wpmid Qermiym @G5 Crrsdd Qeuwtiu@n srGaulen

Quiw .
(A) smbued &iGeu (B) Qsulern &tGeu
(C) YGarer GLi9ér FGeu (D) @addafwfm siGeau

(E) &far Qafweldema

20. is the bench mark established for short duration.
(A) G.T.S bench mark - (B) Arbitary bench mark
(C) Permanent bench mark Temporary bench mark

(E) Answer not known

Gndu stosdbE Hpeuriu@eus Qugps wmirs.

(A)  G.T.S Qugpé wris (B.q.erev)  (B) mA M Quigs wis
(C) Peewrar QuEs wrirs (D) spsreds QuEss wits
(E) oo Qsflueloame '

21. A simple levelling, the height of instrument (H.I) =

@ RL+BS B) RL-BS
(C) RL+FS (D) RL-FE.S
" (E) Answer not known :

@@ aaflamvwrar Qaoaei FiGaudd, e smaliar o wrsms sram 2 gayb

LX) ’
A) RL+B.S (B) R.L-B.S

(C) RL+FS D) RL-F.S
(E) oo Qsfweldvama :

DMIT/2022 12 | O



22. In abuilding, R.L of plinth level is 103.000 m. The staff held at bottom of
the sunshade the reading taken as 1.300 m. The staff held at top of
plinth level, the reading taken as 0.800 m. The reduce level of sunshade

1S
e 105.100 m (B) 102. 500 m

“(C) 103.800m (D) 104. 300 m
(E) Answer not known 4 )

e® s gL sdar Plinth level-ar gepssuu L Qaararg 103.000 Bl grgLb.
Qaailé Staffew Sunshade-er wiyriuEHle @auss TRESULLL eTay
1.300 BSigngw. Qeeudde Staffew Plinth level-eér Gupu@die @meass
aRssur L oatey 0.800 B erafleo Sunshade-anr garpssu L Qaeiwrarg
(A) 105.100 8 (B) 102. 500 8

(C) 103. 800 5 (D) 104. 30085

(E) - e Qzfweldana

23. Bench markis
\K{ Known elevation (B) Unknown elevation
(C) Rise . (D) Fall

(E) Answer not known

Quen&Lomits eTerLgl

(A) QsAps 2 wgd (B) Qsflwns 2 wd
©) owgp o ' (D) smpey

(E) &len Qzflwefdaena

n o 13 DMIT/2022
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24. G.T.S Expands _
M Great Trigonometrical Survey
(B) Great Temporary Survey
(C) Great Telescopic Staff
(D) Great Target Staff
(E) Answer not known

8l.iq.6rev e eNMeumssin

A)  ACr. yAsam@Quwr s FiCeu
(B) &Gy QLburf #7Ceu

(C) AGy QLewavBamts GoLmsL
(D) &Gy LmiQsr. eomeLs

(E) e&enr QsAweldena

25. In Rise and Fall method the staff reading is greater the point is at

(A) Rise
@/ Fall
(C) Equal

(D) . Identical
(E) Answer not known

2 W SMPey (pern SaMESLigd GULT-6T rHSS DeTey 2 WIfors QBHSTO iBS

Bleo yeiref "5 @(HESLD.
(A) ecwray |

(B) &ipsA

©) s

D) &Gy wrdfwrar
(E) ofen Qsfwefdena

DMIT/2022 * 14 . | 0



26. The permissible limits of error in ordinary levelling ‘E’ is

217.

(A) E+0.100vkm

& E=+0.025Vkm

(C) E+0.0124km
(D) E+0.006vkm

(E) Answer not known

grgman UL seralBgaled (ordinary levelling), wi@wdssii L Qe Error
‘E’ e eurybLy eretren ?

(A) E+0.100vkm

(B) E=0.025Vkm

(©) E=0.012Jkm

D) E+0.006Vkm

(E) o&ler Qgfuefdweme

Profile levelling is usually done for determining
(A) Contours of an area

(B) Capacity of a reservoir

(C) Boundaries of a property

| M Elevations along a straight line

(E) Answer not known

LQrmeud Queuddin aghars LwaUBEDS 2
(A) e ugdler aome s&THGYES |
(B) @ Si5Cssasdler Qamdmarare, smemr
(C) g Qengdlen eTvened Semr

(D) CriGsmier Hansiler (parpbd smewr
(E) ofer Qzflweierency

15 DMIT/2022
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28. Thé permissible gradient in the alignment of highway is called
(A) Average gradiént
(B) Floating gradient
(C) Limiting gradient

\®@” Ruling gradient

(E) Answer not known

. Ap@Ereraamu frou@ssinh Qumps sigodssiiuc Gpr sfelh
(A) ;&r}rr&rﬂ Coir sfey
B) Bswe Cpir sflay
©) Qs Cor shay
D) <y@paw Cpir sfay
(B) e 0sfueidma

29. The outer edge of the pavement is raised with respect to the inner edge
1s called

w@( Super elevation

(B) Super gradient

(C) Super margins

(D) Super camber

(E) Answer not known .

st wllesr Qeuell efeflbanLs Sigen 2.6t elleflibenus STLgEId SHm o WFnrs
SM&EELILI(Heug)

(A)  Hes 2 witey

B) Vs Crisafay

O Ves Aroupsgss
D) dBes ypssfey
(E) e Qsfwelaame

DMIT/2022 16 . N



30. As per IRC the minimum sight distance of minor roads is

(A) 25 m
B) 20m
C© 10m

@ 15m

(E) - Answer not known

@idw srae srrdfrflar (IRC) vy Hflu srawsalar Gapbsuls urime gy
TG ? : ‘

A) 258

B) 208

(C) 108

D) 158

(E) oo QsAwafidema

31. Stopping sight distance means

(A) Driver stop the vehicle
\(Bf To stop vehicle without collision
- (C) Non stopping driver
(D) Overtaking vehicle
(E) Answer not known

U Opfer flmssn umrena ST eremLg)

(A) @ Bt amsaigos Ansd obGaug

B) eLEpT adi unsarsas sarLgib Hpisgin Ggefleurar gryb
© Poss wuurg gy

D) ansasas wid Qedaib GIb

(E) ofer Qzflueiédea

n 17 DMIT/2022
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32. In formation of road survey minimum gradient is
& 1in 200 ~ (B) 1in 220

(C) 11in 250 A . (D) 11in 280 -
(E) Answer not known

FTEHQD DMEGLD &r‘rCmuﬁ]e&r Qumrs GopbBsULs Coir sflay
(A) 11in 200 (B) 11in 220

(C) 11in 250 (D) 11in 280

(E) ofen Qsflweldvene

33. Match the following :

(a) Cement concrete pavement 1. Barrel camber
(b) Water bound macadam road 2. Sloped camber
(c) Parabolic camber 3. Flat camber
(d) Straight line Camber 4. Steeper camber
@ ® @© @
A 1 2 4 3
B 2 1 3 4
(C) 3 4 1 2
D) 4 1 3 2
(E) Answer not known
Yeraumeuanaupenmls QLM mESEs
(a) AQuan . sren&ML serhiser 1. Soumi ypéssfey
- (b) arif Quetar QuasTLib st 2. eumii U yp&siey
(©) ugaueerws Up&sfay 3. sleL ypsefey
(d) Cmpiypéefey 4. Bevswereurar ynssfey

@ ® @© @
Aa 1 2 4 3
B 2 1 3 4
73 o4 1 2
) 4 1 3 2
(E) &l Qsflueidena

DMIT/2022 | 18



34. Choose the wrong answer from the following :
If the limiting gradient is continued for a long distance

35.

L
IL.

1L

(A)
(B)
©)
(D)
(E)

There will be considerable gain of tractive power
The road surface will wear out quickly due to high velocity of

surface water
The load carrying capacity of vehicles will be increased

I and II are correct

IT and IIT are correct

I and III are correct

I, IT and III are correct
Answer not known

QéraumaranapBle seuprer ufleve CsibOS0HS.
ey Cpir sfley fawr gnsdp@ Qs iibg QmbsTO,

I.  JBedurer Quaiames Hper sfswrED
II.  sreaulear Cupuriy S&dyors Cauiwrand ewyb gQarammrd sarafi
2 CousggiL e QFweugmed
III. ansamsdr aaL a@sgéE Qsdgid Sarey sfswrd eA@L
A) I wogs IT sflurareneu
(B) II wpmw I sAwrerensy
W I wogp I sAwraraa
D) LI wpmid III sfwrerenen
(E) e Qsfwaidame
The portion of land on either side of the formation width of a road are
known as
(A) Land width (B) Road ways
(C) Carriage way MROad margins
(E) Answer not known
ETMVEETE g@mrrésa;uur_L s0sHD Qrert® LD 2 6ter HaoliLigHas,
A) Posder ssbd (B) sraa afiser
©C) anfigsLp (D) Cgr® wrirgden
(E) e Qsflueldame

19 . DMIT/2022
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36. Why to apply digital transmission?
M Provides added security to our information signal
(B) Less immunity to noise and external interference
(C) Analog communication is cheap

(D) The error correction and detection techniques cannot be
implemented

(E) Answer not known

gL uflbrhpsams ger LweaTLBHSS CouamHLb ?

(A) pd ss® sllEmErEE SmbBH LUTFETUML QUPEIGEDS!

B) &350 wopw QaveliiLp GNSEEQSEHEES Gopaiter adlily s&8

(C) aers Qgriiy weleurang '

D) Yepdmssd LHHL saTLHsD B LBISMET QFUOLESS (PGS
(E) ofen QgRwaiidama .

37. GPS receivers from distance measure computed

(A) Segment modem

@f Satellite modem
(C)  Tracking modem
(D) Spot modem

(E) Answer not known

8. 9.erev Ffeursafian gybd sanrédl @ @mhg QuUDUILGADG.
(A) QesQuer Gurib

(B) Gsrgeer Gumwbd

(C) wrré&dnm GuomLib

(DI) aoum’ Guorib

(E) &Moo Gsfueldame

DMIT/2022 20 n



" 38. The GPS satellites travel about

7 12000 Km/H (B) 12500 Km/H
(C) 7000 Km/H (D) 8000 Km/H
(E) Answer not known

HQerev Qewupens Campaefler Lwemr Geuswd

(A) 12000 &8/ wenfl (B) 12500 &.8/wenf
(C) 17000 &.5/wenf (D) 8000 &if/wenfl
(E) ofeni Qg,lﬂmaﬂci)am)

39. The advantage of GPS survey is

(A) Two dimensional | ﬁrThree dimensional _
(C) Weather dependent (D) Only day time operation
(E) Answer not known

g 9erev (GPS) e oo ierefuden pemeniowimeng

A) @ uflbremd (B) @puufwmenid

(C) arafllee snibsgl (D) usele wr B LwETUESS (PigULD
(E) &fenr @gyrﬂuaﬁleﬁmm ‘

40. The orbit period of satellite in the space segment of GPS is

(A) 10 hrs ‘ (B) 20 hrs
W& 12 hrs (D) 24 hrs
(E) Answer not known

' f9erav-wlen eflam@asedl Afefd QeupasCarafiar appiLITas ST

(A) 10 hrs . (B) 20 hrs
(C) 12 hrs (D) 24 hrs
(E) olen QgRweldana
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41. The common choice of co-ordinate for specifying position

(A) Northing, Southing and Easting
(B) Easting, Westing and Elevation

M Latitude, Longitude and Elevation
(D) Latitude, Longitude and Horizontal
(E) Answer not known

Peowowus GHludheaugpsrar grhdaariear Qurgerear Csiay

(A)  aLss, AspE wHmD Hpés

B)  Ayses, Cuis whmih 2w

(C) e sCrevs, SréaCrens wHHID 2 wWig
(D) @sCrans, SissCres wHmid Hav_or L ib

(E) e Qsfwedrana

42. is designed parallel to the equator.

(A) 10° latitude
(B) 0°longitude
(C) 10° longitude
" 0° latitude
(E) Answer not known

BQ&ECalL(p&E Qaamuns mqm&mésa;uu@é]’mg.
A) 10° Gaorig Gyl
B) 0° wrmudiy@up
(C) 10° eridlig@up-
(D) 0° G igBupt-
(E)  &ler Qsfwedvanad
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43. The basis of GPS is from satellites.
Triangulation (B) Translocation
(C) Trialteration D) Transmission
(E) Answer not known

8.19.6rev. 6t igLiLienL ererg Calig@maLiqd SieLLIL.
A) sCaramafiwd ‘ - (B) ygnemevCanCaage
C) yeqwaL Crager (D) goreraviflagesr

(E) e Qsfueldme

44. The standard way to listing latitude and longitude is
DMS - (B) SMD
(C) DSM - (D) SDM
(E) Answer not known

Gaor gty wHmid oridlw! duaipen eeeury dlevgn GHILS
(A) DMS (B) SMD

(C) DSM (D) SDM

(E) olen Qsflwelerena

45. Full form of “SERIES™?
W Satellite Emission Radio Interferometric Earth Surveying
(B) State Emission Radio Interferometric Earth Surveying
(C) Series Emission Radio Interferometric Earth Surveying
(D) Segment Emission Radio Interferometric Earth Surveying
(E) Answer not known

“SERIES” —ér eflfleunésid

(A) QswpaaCarer 2 Bipey eurQarmel apaid Ylleow sasEdsH S5
B) wvrie 2Bpe; ar@ama waw ylleow sarsdshss0

© QQ"L.I’T 2 fipay ar@enel eped Lbleuw asmé;@as@(&,g.&

M) 9Aay 2 Bpey aunQarmell aped iflanw asmra;@a@gg,a)

(E) &lerr Qsflwelidvena
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46.

47.

48.

Undecégon has how much sides.

(A) 5 sides 11 sides
(C) 12 sides (D) 9 sides
(E) Answer not known

<ierGL_sei TESDET LIGHHIGEMET QETRTL ).
A) ghs LsstsE (B) ufQanmm Lssmisar
(C) ueaaQuanr® LsSHIGET (D) qearug usshsar

(E) eleor QgAwelcrena

How many sides are there in hexagon?
A) 5 B) 4

el 6 D) 7

(E) Answer not known

ANCaTamSH DG TESMT LISHRSET ?
A 5 (B) 4

C) 6 D) 7
(E) e QsAweldrena

Choose the correct answer. Opposite sides equal and parallel. Opposite
angles are equal. Diagonals are not equal

v Rhomboid (B) Trapezoid

(C) Trapezium (D) Rhombus
(E) Answer not known

silwrer uflewe CsibAsH &S . adlt el LsERIGET SO LOHD GeeTWNs
Qm&EW0, adli i Camamiis@pd &b, yarmed epeeell L fisaflar Cararmsar
&OLONS Q(HEETE

(A) Gombumi@ B) LGrlsmu@

(C) sAeusd - (D) srwsgimod

(E) &ler QsAweldame '
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49. Match the following :

Opposite sides are equal and all angles are

(a) Square 1.
right angle ‘

(b) Rectangle 2. All sides are equal but not right éngle

(¢) Rhombus 3. All sides equal and all angles are right
angles

(d) Rhomboid 4. Opposite sides are equal and parallel but

angles are not right angles

@ ® @© (@
w’”3 1 2
B) 1 4 3
©C 2 3 4
M 4 2 1
(E) Answer not known

LW = DN

Qereumeuareupenpls QUMBHSSIS

(a) sggw 1. adlif ussmsET FOW WHNID ADTSS
Canamiuas@pd CemiCsmanid

(b) Qséueusd 2. omaipg UEEMSEHD &N patrd GCsrahisea
QeriGasrantid e

(c) Cgmbuev 3. S@aisg LESHEEHD FOWD LHHD ADETSS
Canamius@pd CekiCameawid

(d) CGprbumiE 4. i ussmEET  FLOWLISAD  GEETLITEELD
Q®EEWL. yarrd Caramiiser GemGarargsd
@eene ‘

@ ® © @
A 3 1 2
® 1 4 3
©C) 2 3 4
M) 4 2 1
(E) &Moo Qsflweiidena -

Lo == DN A
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50. is a plain figure bounded by three straight line and has
three angle.
(A) Circle (B) Square
W Triangle (D) Pentagon
(E) Answer not known

| areugl eperm Cur CamiLmed sl Luul L whpib epern CaremrmisemTd
2 (HeUMESLILIL L. 2 (HEULD.
(A) aLLd (B) sgigw
(O &Caramd (D) griGsmennd
(E) e Qsflueldeame,

51. Triangle having side.
(A) One | (B) Two
\@f Three (D) Four
(E) Answer not known
W&CaTaRTRISET ererLIg) L&SBIGET.
4) geay (B) Qe
©C) epam (D) mren

(E) oo Gsfluadlome

52. "An angle more than 90° but less than 180° is called

(A) Acute angle \QBrObtuse angle
(C) Right angle (D) Reflex angle
(E) Answer not known -

90° &g Cuo geame 180° &g orucl Csmewtbd | erea
Sienp&sLEng.

Q) GouGsramd (B) afiGsrammn

(C) QsmGsmartd (D) YGereuenearas Camartid

(E) e Qsflwefoeme
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58,

Match List I with List IT correctly :

List I
(a) Equilateral triangle

(b) Isosceles triangle

(é) Scalene triangle
(d) Right angle triangle

@ ® O @
A 3 2 4 1
B) 1 2 3 4
©C) 2 4 1 3

4 1 2 3
(E) Answer not known

1.

List II

A triangle having two of its sides equal
and angles opposite to two equal sides
are equal

A triangle having 3 sides unequal and
also 3 angles not equal

A triangle having one of its angles 90°
A triangle having all 3 sides equal and
all 3 angles are equal ‘

utgwe I g utgwe IT o 6r Qur@sd sfwrar e awsg Csib0s@ :

utiquie I

(a) swuss W&Cameamd

(b) @ swuss sCararid
(c) SFDLES p&CamemTLd

(d) QemGarenr p&Gamantid

@ G © (@
(A) 3 2 4 1
(B) 1 2 3 4
(C) 2 4 1 3
D) 4 1 2 3
(E) e Qgfwefdrene

vigwe IT

1. v @&Gsrangder @@ LEEMSEHD
2igen Gy 2 dter ComamThIGEHLd FOWOMS
IGLIGT

2. @O wiCsramsder apeng UESMSEHD
epenn CarenTiis@hd FOLNSG @)(HEETS)

3.  e® ypsCsrangdd e Gareurd 90°
BEED

4. gm wsCaramgdd aperm LSEHEISEHLD
epenn Carammius@hd WS @)(HéEWD
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54. In chain survey leader work is

(A) Following the survey work
(B)  Observing the ranger

To drag the chain forward
(D) To pick up the arrows
(E) Answer not known
aufl pLggieur ererueufler Ceuamewrarg
(A) &Geu uafllgeflen e QgeLieui
(B) GCorgwns sarsrenfliiLieu
(C) Qsafear gper LEGHulemar B(psg GFwLieuT
D) sibyseer a(HEgEF QgdueuT
(E) e&len Qsflwelerena

55. To erect a perpendicular to chain line from a point on it
(A) Ranging rod is used
@f ‘3-4-5 method is used
(C) A levelling is used
(D) Right angle is used
(E) Answer not known
Qaler #iGeuwied Camlh epad Cem@Gss ApSMET STEID (P
(A) Crgpém g vweTu@BSSH STaERTOMD
(B) 3-4-5 peplieer uwuaTUhSSH STaRTOMD
(C) wlLwrel b sramemb
(D) QsuGsrew wp&Caramsder amamradrmid

(E) e&len Qzsflweldrana

56. Size of field book in chain survey
(A) 10cm x 30 cm v(’Br20 cm x 12 cm
(C) 20cm x 22 cm (D) 10em x 12 cm
(E) Answer not known
Qeullen iGeuudled D[ LSsESSl6em sieTa]
(A) 10 Qs.8. x 30 Qs.8. (B) 20 Qs.8. x 12 Qa..8.
(C) 20 @s.8. x 22 Qg.18. (D) 10 Q&.8. x 12 Qa.15.
(E) & Qsflwelevena
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57.

58.

59.

How is metric chain composed?

(A) Brass wire of 4 mm dia

(B) Copper wire of 4 mm dia
W Mild steel wire of 4 mm dia

(D) Aluminium wire of 4 mm dia

(E) Answer not known

QMg srudlel ereucurgy enamsasli_(HeTerg) ?
(A) sseeruyan saiqu 4 8.8 el b

(B) smuur e Lér sgw 4 188 AL Lib

(C) Quer QbyLer saiguw 4 0.5 el Lib
D) sgbleluggarn siqu-4 B.85 el b
(E) &er Qsflweficranaw

20 chain is equal to ‘ furlong.
@ 1 o2
<G 3 D) 4
(E) Answer not known

20 Q&ulen 2y ag) Lt S GLD.

A 1 B) 2
(C) 3 | D) 4

(E) oler Qsfweldana

The operation of measuring a distance between two points with the help
of a chain or tape is called

(A) Off setting (B) Ranging

(C) Taping ‘ J»#” Chaining

(E) = Answer not known .

Gl 2 ar Gsips Qelleanr sdeg shdld 2 g6l Qsrar® QranG Lerella@héd
Qe Cui 2 dren gisemg AaéEGL CewgIsE '

(A) < Qeligm (B) Gregpdinu

©) GCLulm (D) Qslefim

(E) &l Gzflwefcrana

29 DMIT/2022
[Turn over



* 60. Identify the name of surveying in which is determined by natural and
artificial features of the country?

(A) City surveying (B) Cadastral survey
(C) Engineering survey M Topographical survey
(E) Answer not known

@ LTl oeg Csesdlen @mmmas SiawliLsemer SrwraflliLgnd Q&UJI.UI_ILJ@LD

girGeu
(A) pard sTihs sTGa (B) s ffwunear sreoama siGau

(C) Qumiuwe &rGeu | D) yeNuwer semwoiiy sTGeu
(E) &Moo Qsflueidee ‘

61. The disturbances to chaining like bush, water pond, river, building etc

are called to chaining.
W Obstacles (B) Distractions
(C) Distance (D) Stoppage

(E) Answer not known

srflell sas&Ca@ider Curg gfl, @erw, yst, slglb Curamehord FHu@LD

QAgMbsTeEET ——— GTaT SMPSSLILHILD. 4
(A) seLsar (B) saansfigpasar
© g (D) Poissd

(E) oo QsAwueloama

62. is used to mark the intermediate station.
\@( Ranging rod (B) Tripod stand
(C) Spirit level (D) Chain

(E) Answer not known
Qaflane vGLagamar Ghlés LweaTLRHb Smed
(A) Gresdr gr@ (B) Cenguiul ev_mar()
©O) A Caveudd (D) Qsuleir
- (E)  &flen Qsflwueleorena
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63.

64.

65.

Penta graph is used to

(A) Measuring distances
(B) Measuring areas

M Enlarging or reducing drawing
(D) Settling out right angle

(E) Answer not known

QuerL g smedl ———— &@& LweruHSpgl.

A) peseng slatés

(B) uglueaTeeu SjaTéE

O aeruLgms Quiignsseb dag HMlugrsseb
(D) QesrCsramsams Csiey Qauiw

(E) &ler Osflweldrenad

The survey in which the curvature of earth is taken into account is
known as

(A) Plane surveying %Geodetic surveying -
(C) Aerial surveying (D) Mine surveying

. (E) Answer not known

e eumeTasas@sLL saTERd aOEHE Oarar® Qeuwb sGauuldin
peD&G

(A) QGarer siGeuudr (B) HCur@Liqé srCeuudinis

C) gflué srGeuufn (D) awer F#iCandn

(E) &l Qgflwelevens

One Mile is , furlongs.

@ 4 . T8
(C) 10 D) 12
(E) Answer not known

(1 LD ——————— LITEITMHI

@ 4 (B) 8
(C) 10 ' D) 12

(E) e Gsflwedena
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66. The following represents the sequence of setting up a plane table
(A) Centering, levelling, orientation
(B) Centering, orientation, levelling
Levelling, centering, orientation
(D) Levelling, orientation, centering
(E) Answer not known

Qereupeuaraupiled erg CiGarer GLbdr iamwiiugparer sflurar euflesamws
Ghlédng ?

(A) Centering, levelling, orientation

(B) Centering, orientation, levelling

(C) Levelling, centering, orientation

(D) Levelling, orientation, centering

(E) e Qsflweldrena

67. How many methods are there in plane table surveying?
@A 1 B) 2

€ 3 4

(E) . Answer not known

QCerer CLGaT #1Ceuulled THSMET (WPEDSET 2 ETETET ?

A4 1 | - (B) 2
€ 3 D) 4
(E) el Qsfwecrana
68. "Orientation at every station is done by on the previous
stations.
(A) Traversing \{Back sighting
(C) Magnetic needle (D) Radiation

(E) Answer not known

@aQeaunm foowusdaibd @iluaGLeea gyearg qpear o drar Hlawwsder
g WpigdlaTng.

(A) greurdm : (B) LQ&TG;_r,nés@ urfrenau

C) smpsye oad (D) sdielss

(E). elen Gsflweldrena.
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69. The method of Plane Table Survey is suitable for small area which can

70.

be commanded from single station.

(A) Resection method ’ﬁﬁ{adiation method
(C) Intersection method (D) Traversing method
(E) Answer not known ‘

ghep Hoousddmbs slLmamilsameu Aflu LuEH abs Qanarenr GL(Qar
#iGeu GummsgoTans

(A fQssezer e A (B) CrgCuager apenp

(C) @eniGssager aparm - (D) grreuedlis aperp
(E) oo Qsfueidana

Assertion [A] - : . The steps of orientation and centring are to be
carried out repeatedly to get both correct.
Reason [R] : Since the process of orienting the table requires
rotating the table, centring gets affected even after
A proper orientation is done.
(A) [A]is true but [R] is false
Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A]is false, [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct explanation
of [A]
(E) Answer not known
sanflciy [A] : efluanGLagerr wHHL Qe Mk rar@w sfluns e
ey Bar@n WBarGb @gar afipapsdr Qgrrdwrs
Qelwiu@Hpg.
smyenrid [R] : MuerGLeayaflér - Gumrg uoms swHOlLESTE
gamLMm urrﬁuummrraﬁlm @Qger  Yerent  @pmisTET
eflwuearCLagen Q&u.nu.uuu@é? :
A)  [A] o wpame [R] s
B) [A] vpgid [R] ef; [A] 4@ [R] yarg sfwurer edersasid <y@ib
©€) [A] seum gyarred [R] o |
(D) [A] wpgud [R] Al enred [A] &6 [R] peng sflwumar efatésid sida
(E) oo Asfueidama
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71. , is the large size of plane table.
W 75 x 60 cm
B) 90x120cm
(C) 120x 80 cm
(D) 100 x 120 cm
(E) Answer not known

9Cererr CL9efled Quflw jeTay
(A) 75x60Qs.8
(B) 90 x 120 @s.8
(C) 120 x 80 Q&8
(D) 100 x 120 Q.8
(E) oL Asfuddma

72. A telescopic alidade is used for
(A) Centering
(B) Levelling
@’ Sighting
(D) Plotting
(E) Answer not known

e QgranaGrrad] elGLLl LweaTLRSsLILGE DS
A)  owvuu@sgs®

(B) swarL@ssIHD
(©O) urreal@se

D) ez
(E) e Qsfluelorena
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73. is used for sighting the object and drawing the rays in
plane table surveying. '

¥ Plain Alidade

(B) Spirit Level

(C) Trough compass

(D) Plumb bob

(E) Answer not known

GCarer CLGdr  siGoude Qur@Lsear umiiLgH@&b wHmbd Csr@samer
uMragHEGHD —— LWETLHSSLLGEDS.
A) GCarer eSICLL

(B) e Qaeus

(O wou smbue

D) srs6 Ga®

(E) oo QsAweldrena

74. Operation the table top is made truly horizontal.
«( Levelling -
(B) Centering
- (C) Resection
(D) Orientation
(E) Answer not known

AGererr GLi9aner flavL ol L1078 et RS QeI amer
(A) Qaeeuedri

B) Qser_fm

(€©) AQssager e

D) ghudCLager gpenp

(E) e Qgfweldene
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75. The following statement are true about adjustment of plane table

(i) The sight vanes of the alidade should not be perpendicular to the

base of the ruler.
(11) " The ruling edge of the alidade should not be straight
(i1i) The surface of the board should be perfect plane -
W (iii) only
(B) (@) and (ii1) only
© (i) and (ii) only
(D) (ii) and (iii) only

(E) Answer not known

Spsam. ansdunsaiie Wamarar GLldr #iCa sfldalaugh@ 2 a@mamwwTarae
Q) OG- Enée Qe Gerar uEd (Sight vane) Guevepar-&@
Qem@&ssTs @@é;a;rrgj
| (1) NG -ér el ellafby Cryres @més Coamaruldame
(111) veemsler CuHuriy sogearors @Qmess CeuamrHb
(A) (1) i@
(B) (@) whgd (111) wLHb
(C) () wppwd (1) wLED
(D) (i) wppo (i) we@o

(E) &ev Qasfwelevreney -
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76. Mention the sequences for the construction of W.B.M. Road.

@)

(i1)
(111)
(iv)
(A)
(B)
©

Preparation of Base course of foundation
Preparation and laying of wearing course
Preparation of subgrade

Surface painting of Road

(1), (ii) and (iii) only

(i1), (1) and (iv) only

(iii), (i1) and (iv) only

@ Gii), () and (i) only

(E) Answer not known

W.B.M sroa si@vuugpsrear eflesowus Giludps.

@)
(id)
(iii)
(iv)
A)
(B)
©)
D)
(E)

sligggargdlen Guev Gamiev gurfgse
cllwfe G&rrr‘réu @hsd wHnb surflssed
agt1 Gy swrfgge

gremeuder Cupuigiiny GQuulerig i

(1), (1) wHmd (1i1) wL Eb

(11), (1) wpgid> (V) LG

(iii), (i) woHmb (V) wLHb

(1i1), (1) wHmbd (11) wL @b

aﬂmn.. Qs flwelidene
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77. Earth road is laid using
@ Stabilized soil 2 layer
(B) Gravel
(C) - Sand
(D) Bituminous concrete

(E) Answer not known

e sreeuldler GohHupbd LiweTu{HIb
A) o pdurer wer @qm@ ADES
B) Qug ware

) weme

(D) s

(E) oo Qsfusldama

78. It consists two simple curves of opposite direction that line at the
common tangent point is

M Reverse curve

(B) Simple curve

(C) Compound curve

(D) Parabolic curve

(E) Answer not known

adli i HesseEpmLw @reaw® erefigmen QUMETAHET QEBTRTLGID HEUSET
Qurgieurs @anemuib QFTOCET(H LeTaf ~

(A) sMELD uameTay

(B) eaflenwwnear cuaneray

(C) swae cuaeray

(D) ureuenerw cuenaTay

(E) Mo Gsfwueldeame
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79.

80.

(A)

purpose of kerb stone fitted to road.

In traffic purpose

\@f This is boundary between the road pavement and footpath stone

©
(D)

(E)

Traffic separators
The create way

Answer not known

Frene SienwliLsafle Qailicy sh&eT JemwriLger Crrasid

(A)
(B)
©
D)
(E)

CunsGeurss ausdssns

Freney a‘ann.ouﬁ]éo j_r,m;urrmg,&asrfas @& amm&esuu@lb sH&er
saflwng GursGeaursg Geuw

A Ceueiv

afler Qgflwaildane

The layout of the centre line of road on ground is called

(A) Sloping

(B) Cutting

\(Ef Alignment

(D) Formation

(E) Answer not known

sravouder ewws Camiyamar HlosHd amwliugns aram Q.
A)  sfley

® Qe @sd

© Hrouesssd

D) wiewiy gHLESEES

E)

e Asflweiidene
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81. Mention the height of mandatory signs are installed above ground level.

(A) 1.00 m
(B) 1.80m
(C) 2.00 m

@ 2.80m

(E) © Answer not known

sany wi L $HnE Cula fpeuiuL sl cru ghulGseiar 2 wrsas @GOLALayb.
(&) 1.005 |
B) 1808
(C) 2.00.8
- (D) 2.80.8
(B) e Gsfualdae

82. Curves with convexity downwards are called curves.
(A) Transition
(B) Summit

@27 Valley

(D) Compound
(E) Answer not known

cuanere| Geuafliiypors £QC3§rré;é] B(m&@SLD.

A) vrges

B) s

©) smp

D) &6

(E) e Qsfwueldme
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List I
(a) Very heavy traffic road
(b) Heavy traffic Road
(¢) Medium traffic road
(d) Light traffic road

S-SR

@ b © @
v 3 1 2
@1 2 3
©C 4 3 2
M 2 4 1

(E) Answer not known

W = A

83. Match List I with List II correctly and select the answer :

List IT

Carry 251 to 600 vehicles /day
Carry 70-250 vehicles/day
Carry above 600 vehicles/day
Carry below 70 vehicles/day

ucgud I g utgwe IT 2 Lar Qurmsd slwner eleorowus Caib0s6

uliguied I

(a) Vs sfswrar CursEeurss 1.
grepe ‘

(b) =fswrear CuréEGauTSE! 2.
FTEQ

() Bgwd CursEaursg 3.
FTE@®

(d) sopbs CursEeurss 4.
FTEMQ
@ ® @© @

A 3 1 2 4

B 1 2 3 4

©) 4 3 2 1

D) 2 4 1 3

(E) ele Qsflweldrena

41

L g I

@ BrenaTs@ 251 (pged 600
aursaThser GFdaeug)

@(h Brenerd@ 70 (LPpge 250
uUngaEIGET QFaaoug)

(H BTeneTsE 600 GUMTEATRIGERES
Cuwé Qadeug)

Q@(h BIEMETH@E 70 GUTERTEISEHES
Gdpains Gedeug
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84. How site plan is prepared after finishing field work in Total station?

W By using co-ordinate system
(B) Absolute continuous encoder
(C) EDM
(D) In drawing sheet
(E) Answer not known
GumiLe evGLser epad Sor @fs (seariueamfll) wuss GAp@ sl Germer
ereueumn swrfssliu@BEng ?

(A) Gar oigGar fevib LweaTU@BSS
(B) susoyl semngeanyeue earGarL
(C) g.emb. '

D) woeguLs srfgsdeo

(E) e Osfluaiomae

85. is data stored in total station.
(A) Pen drive (B) Data card
Micro Processor | (D) External hardware
(E) Answer not known '
Cumire avGLgaild gseue CeafssiLhEng.
(A) Quar gengeu ~ (B) GLLr &
(C) ewslrr Lgrevenit (D) eraevGLiranred ammir®Geuit

(E) oo Qsflwefdena

86. According to importance _ road carry below 70 vehicles per
day. '
Light traffic ' (B) Heavy traffic
(C) Medium traffic (D) Very heavy traffic

(E) Answer not known

WsHwsgaud aumibsHd, HreT QETMEE 70 UTEAEISEHESE G@DaTSs GEbgibd

sneney.
(A) Gasrer Curs@GeuTss (B) <iflswrar CursGaurss
(C) @opaurar CurEEMISS (D) bs sfswrear CUTEGTSHE)

(E) & Qgflweldrena
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87.

Assertion [A] : Total Station are equipped with dual - axis

compensator.

Reason [R] : Total station automatically corrects both horizontal

(A4)
(B)

and vertical angles for any deviation in the plumb line

[A] is true but [R] is false

[A] is false but [R] is true

s@( Both [A] and [R] are true and [R] is the correct explanation of [A]

(D) Both [A] and [R] are true and [R] is not the correct explanation of [A]

(E) Answer not known

sexfiuiy [A] T CGumiie owCLagenr @il oFs FOQswelwmd  swm
Qe ererg
smyemid [R] : Gumiie  evGreger, Qerbl - Csmigd  erhsEeun(p

(A)
(B)
(©)

(D)

®)

CagumeLud &Herwrr wppgn QsuEss GCarammsdr

@ramggib gramaGeu Hmssd Qaiiub.

[A] sflwreang <pemed [R] seupmang
[A] saupreang <pamre [R] eflwrang

[A] wogw [R] @rem@w sfwnarg. Gugud [R] e [A]-ar sflwrar

cNerésmE L

[A] wpgw [R] @re@w sfwneng. Guaind [R] e [Al-ar sflwrer

"AeTEsL00

fenL Qzflwelidena
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88. How did Total Station is always carried in?

(A) Open case
v({ Locked case

(C) Paper case |

(D) Plywood case

(E) Answer not known

G é evGLsamar erliGungib erliLig arhdgE Qgde CouarT@b ?

(A) guuer Gaav
(B) arEEH Ca
©) CGuuum CSa;Gio.
D) Yaveray Caev

(E) oo Qgflwelcvena
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89.

- 90.

*

Choose the wrong matches of total station from the following :

1.

2.

3.
4.

Communications
Atmospheric parameters

Angle measurements
System

\(ﬁf 1, 2 and 3 are correct

(B)
(©
(D)
(E)

2, 3 and 4 are correct
1, 3 and 4 are correct
1, 2 and 4 are correct
Answer not known

— Get ppm for the diagram from
the manual of the equipment

—  Set all parameters the same for
a total station and logger

— At right angles (clockwise)

— Choose appropriate existing
interface for data output

Qetreupeuareupdler Grmii e oG agaflen g,m,rprfm Qurpsstisamer Csib0s0H S.

1. -

2.

(A)
(B)
©)
D)
(E)

sy afl&6Caayer — o usjemgSlen &aCuL iy eSl(mbg
aueruL S @& PPM wlenear Qup)
cuafl warLwgHed umymblLfsedr —  ereor urgrblLfsemerytd @Gy

Caremt oaTey&eT

&eLLb

1, 2 vpmd 3 sfwireranal
2, 3 vpmb 4 sflwrerana
1, 3 wogibd 4 sflwrarensu
1, 2 wpmw 4 eflurarae
e Qgflweildana

wrdflwres Cmiird  dvGLager
LHNID SH6UD VTEETEEG LD

—  Qemgssy Casrammiseller (Hgs&mybd
FPQID Slansulie)

-  gesaudsd GQaefuiinne sflurar
ghsaGen 2 etar @@L psLlibeaner
. Gairey Qaul

In tqtal station measurement HZ means

(©)
(E)

Horizontal angle
Horizontal zeal
Answer not known

GLm’ Lé evCGagafle HZ

A)
(©)
(E)

HevL ol L Camemrid
el L eneugrsHuwid

evr. QsfMweierana

(B) Horizontal zenith
(D) Heavy zone

(B) feLwlL o seblaa
(D) sar waTLwb
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91. The following are the disadvantages of total station
(1)  Greater accuracy in area computations
(i) Skilled persons are required.
(1) For an overall check of the survey, return to the office and prepare
the drawings.
(iv) Graphical view of plots and land for quick visualization.

(A) (i) and (ii) only

(11) and (ii1) only
(C) (ii) and (iv) only
(D) . (@) and (iv) only
(E) Answer not known

| Yereumuenay G L6 evCagafllar @apurpsarm@d
@)  uriuetey semsSHsalld ods gdadwb
(i) Hoewvwrer puirsdr Caame

(i) sams@s@uder @LEQwrss sAurruGpsts geoussdE Hmb,
aueruLkisamer swrilgse

(iv) eflegeuren sTALULBSsSQESTAT SDES WHHIL FHosHer auamrama T8

A) @) vpgd (i) wLED
(B) (i) wpgw (iii) wi @b
(C) (iii) wpmb (v) wL b
D) (@) whmd (V) wWLEL
(E) oMer QsAweldee

92. instrument used for quick visualization and take the
reading in road survey. :
(A) o Compass ‘ (B) Plane table
Total station (D) Chain

(E) Answer not known

———— 2 uGfaT &M Sy FTCauuded gf;mn_ umieney GIgw wHgb
Sereisenar erhds LwaTLHEHDS

(A) smbue , (B) swser uoes
(C) Cumire evGLager (D) QsuQen '
(E) &e Qgflusidamae
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93. The final size of the folded print which are to be filed will be

(A) 297 mmx 200 mm B 297 mm x 210 mm
(C) 290 mmx190 mm (D) 290 mm x180 mm

(E) Answer not known

Camiiysefldd o arer w&SLLLL el i safler @msl ierey
(A) 297 mmx 200 mm (B) 297 mmx210 mm
(C) 290 mmx190 mm (D) 290 mm x180 mm
(E) e Gsflueidame

- 94. State the order of folding for Drawing sheet

1. Fold Horizontally

2. Fold vertically

3. Folding the drawing sheet to the size of file

4. Keep title block in topmost position of folded drawing sheet

«(2134

1,2, 3,4
(C) 4,3,2,1
D) 4,3,1,2
(E) Answer not known

aeruLg sraflear LR&EGD Wapsmer auflesiiLbSg!s.

1. deLwiLwrs wyss GeuaTt@Hib.

2. QsmEssns wiss CeuaT@Ld.

3. srélg Cameeauuier emeli@ wiyss CauarrHib.

4. wyl9er Goafleaulld samaLiy SULID UTTéEbLY @mss0 Caiam@ib.

A 21,34
B) 1,2,3,4
© 4,3,2,1
D) 4,3,1,2
(E) & Qzsflwelidvena
n 47 DMIT/2022
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95. For spacing the drawing, when only one drawing is to be drawn on a
sheet, it should be drawn in the '

vﬁr Centre of the working space
(B) Top side of the working space
(C) Right side of the working space
(D) Left side of the working space
(E) Answer not known

mmuuuLgé,]m @ Oeiefllsans, sraflé é@q @ euanuLLb L Kb euenqubCumg)
DG 6T cauanyw Geuar(Hb.

(A) Caeme Qeiyb @Lsdar ewwsdd
(B) GCame Qeuwyb @Lgdear Cuousssdd
(C) Geuanew Qausuyid @l_g,ﬁm URLILESSS
D) Cama Gsuynd GLsdar @LLiLisasSd
(E) oo Qsflueldame

96. The untrimmed size of A0 drawing sheet is - mm.
(A) 625 x 880

W27 880 x 1230
(C) 450 x 625
(D) 330 x 450
(E) Answer not known

A0 auaguL greflar 1flb QeLWLILILTE BieTey 0.5 gy @b.
(A) 625 x 880 |

(B) 880 x 1230

(C) 450 x 625

(D) 330 x 450

(B) <Ner Qsfueitdvaa
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97. The card board scale should never be used as a for drawing
straight lines.

O{ Straight edge

(B
©)
D)
(E)

Set-square
Working edge
T-square

Answer not known

CrirCasrhsmar wUMTUSHE DL DLLDDS

A)
(B)

8 LWETU(hSSEm LTSI
Cpymen efeflbyser

Q&L ev@&muir

seraCarewe @@  Gurgibd

(C) Gaeme Qeuuybd efefby
(D) T-evQasmwui
(E) eflenL Qsfwefdrara
98. The card-board scales are available in a set of scales.
(A) Seven
W Eight
(C) Ten
(D) Twelve
(E) Answer not known
SiLaLll uoms dAare|GCaTdsd Serayseflar  Qsm@LaD
Hen_sdleper.
A gw
B) e
€) uss
D) uveraflQrarr®
(E) oMer Gsflweidaa

49
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99. To prevent warping of the drawing board are cleated at its

back. -
(A) Strips
(B) Ebony Edge
Battens
(D) Screws
(E) Answer not known
UL uemsWd eLlmu SHLUUSHETS QPUILITG  iG6T
enanned o 6Teg.
A) Somser

(B) euaf alafliby
(C) umey ure

D) Ameser |
(E) eGe. Qsfwefdrana

100. While drawing inclined lines, the angle between the two arms of the
mini draughter is ‘

e 90°
(B) less than 90°
(C) more than 90°
(D) depends on inclination of the line -
(E) Answer not known
smis Gar@smar ey Qurepg Bl wrmic Aer @rar@ 2 FbevsE e ufe
o_eer GamemTid A5 @SS LD.
A) 90°
(B) 90° &5 Gopans
(C) 90° s Guans
(D) Ganyer smiemes AumHE)
(E) e Qsfweldame
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101 Standard trimmed size of drawing paper A0
\M 841 X 1189 mm
920 X 594 mm
(C) 594 X 841 mm
(D) 148 X210 mm

(E) Answer not known

A0-dflen auamnged srdlgsden 4ib@ Hleowrar sieray.
(A) 841 X-1189 .5

(B) 920 X 594 8.5

(C) 594 X841 4.8

(D) 148 X210 .8

(E) eor Gsflueidame -

102. The use of clinograph

(A) To draw horizontal line
(B) To draw verticél line

@” To draw inclined line at any angle
(D) To draw free hand line

(E) Answer not known

SaNCanrdlymi-er Lwiestm(®

(A) - derwl L Garh cuemTeushH&

(B) Qsrusss Carh auamraughS

(C) epp Garamsdaub smips Cam e eu@rausHS
D) ufGanart Cam® euareughH@

(E) ofen Qsfweidrena
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103. — 18 the size of drawing board-BO(mm)
(A) 500 X350 X15 (B) 1000 X700 X 25
w2’ 1500 X 1000 X 25 (D) 700 X 500 X 15

(E) Answer not known

B0, cuenguL uovansufenr wiatey ‘mm’ (19.8)

(A) . 500 X350 X15 (B) 1000 X700 X 25
(C) 1500 X 1000 X 25 (D) 700 X500 X 15
(E) e QsfAweldena

104. The shortest distance between two points

(A) Curved line : ‘(B(Straight line
(C) Parallel line (D) Construction line
(E) Answer not known

@) yeir(H q&aﬂa@és@ Qe Cu o_eter GmAw gybd

Q)  auameaps Car® (B) CpiGsn®

O QoanCsan@ (D) s @uwrer Car(
(E) ol Qsfwellerana

105. Local attraction on a compass due to

(ﬂr Metallic object (B) Gravity
(C) Paper (D) Rubber
(E) Answer not known

@0 stouaildar @pudls seisfl (Local Attraction) ey @same

FOLGADS!.
(A) 2 CGars Qummer B) yaMuSiriiy
(C) srélsn ‘ D) guur

(E) oo Qsfwefdana
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106. Due to which in a compass instrument magnetic changes occurs?

(A)
(B)

Error in instrument

Error in manipulation

427 Error in external influences

(D)

Error in sighting

(E) Answer not known

smbuey smelluded STHSLIQ WTHDBEISHET Qepipwired Hlapélarpe.
A) smelule 2 drer Geny

(B) smlow SapsOTsS @EWLTEHSED

(C) Qaefliyp grésusafiammed ghu@Dd ﬁ]mg&m

(D) Qurr@mm uriiudermed ghuBd Henyp

(E) e Qsflwefdane

107. How many methods for eliminating the effects of local attraction?

(A) One
@f Two
(C) Three
(D) Four
(E) Answer not known

Cardsd Sl Jréayer (aTHS 2ad ale@Gaugtd) ghu@b Wmpsmer

wepsaia &fl Qelwemd.

A)
(B)
©
D)
(E)

eyl

AbELIO

Gl

ELEC

e Gsflwelerensy
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108. The bearings of a line is measured from the magnetic north in clockwise

(A)
(B)
©
v
(E)

Magnetic bearing
Arbitrary bearing
Reduced bearing
Whole circle bearing
Answer not known

20 GCerlger SGwin, smps LA ®BEE sha1r et pEmHL  Hasuda
¢ et LB Apg.

(A)
(B)
(©)
(D)
(E)

&ambg Guflm
senafléamawirar G
Qrewev® Guiin
el Guflm
aflen_ Qgfwelerenay

- 109. If the bearing of a line ‘AB’ is measured from ‘A’ towards ‘B’. It is known as

(A) Reduced bearing |

(B) Whole circle bearin
M Fore bearing |

(D) Back bearing

(E) Answer not known

‘AB’ Ganmemrid 2 enLi Gamiyd ‘A-Wmbs B-ow Corad SITESLILIHID

Garewtib

A) seopssaur_ Cuin

B) e Cuilm

C) @ename Guin

(D) Qeénamméd CGuin

(E) aflani Qsflweldeame
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110. Differed between the bearings of fore bearing and back bearing
@A) 270° ‘ (B) 300°
180° (D) 90°
(E) Answer not known
apenanred Gufli whgid Genarmed Gulii-&@LD @enLviul L Garewtid
(A) 270° ~(B) 300° "
(C) 180° (D) 90°
(E) &len Qsflweferenew

111. ABCD is a rectangular plot of land, if the bearing of the side AB is 75°.

The bearing of DC 1s
(A) 180° ' (B) 270°
75° : (D) 255°

(E) Answer not known

ABCD s.grar Qscuiaus Garmid ussn AB e Guiin 75° arafléd ussb DC én

Gufim _
(A) 180° (B) 270°
(C) 175° (D) 255°

(E) oMer Qsflweildvene

112. graduations are in whole circle bearing system having 270°
at east.

m’ Prismatic compass
(B) Surveyor compass
(C) Engineer compass
(D) Open compass

~(E) Answer not known

oerayser appel L Guilin gpapudd GdlésrLi® Apsde 270°

(A) Prismatic compass (9 MevCioigd STibLIG)
(B) . Surveyor compass (sfGeuwit &mbLiev)
(C) Engineer compass (Qumlwreri &mbLiev)
(D) Open compass (@uér &mbLe)

(E) e Qsfueddena
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113. Consider the following statements:

Assertion [A] :  The compass cannot measure the angle
directly.

Reason [R] :  With compass magnetic meridian are
determined.

Now select your answer.
(A) Both [A] and [R] are correct.
(B) [A] is correct, but [R] is false.

\(Zf [A] is false, but [R] is true.
(D) Both [A] and [R] are not correct.

.(E) Answer not known

Ep&EaTL sappseer Seueh |

2 pfurar gienflay [A] - @ smbuey  pa  Crygurs Caramseans oiarés
Plyurg.
argemd [R] t smbuey  pew  Guseangs QuAlgwer WL D

Siworallés apiquib.
sflurear ellen_amwg Csib0s®.
(A) [A] wppis [R] @rer@id &.
(B) [A] sfl game [R] saugy.
©) [A] gaup gyamed [R] &,
D) [A] wpps [R] @ramid sfwde.
(E) ol Asfwelidvena
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114. Defect of colimation method

115.

(A) It is several calculations
(B) This only for curvature correction

M There is no check on RL of intermediate points

(D) This only for take measurement use
(E) Answer not known

sredlGuager wpeppuden Gampum@

(A) Qde fsuiqunan saTsEHSHT 2 draTar.

B) @8 aameraysamer wI GG sawsSH Gaiw Quigitb.

(C) @de @euiyerall ppad GapssriulL Qe sram Guerg.
(D) @4 siaraysamar atés WL HGL Guigib.

(E) Moo Qsflusidame |

Name of term the sight taken on a levelling staff hold over a pomt of
unknown elevation before shifting the instrument is

(A) back sight

(B) height of instrument

(C) intermediate sight

M fore sight

(E) Answer not known

Qi siGauldar Gurg Ldrafsdar Asflurg Curg smpelew wrHH @aLILISHE

(Per THEGD DleTenal . & @M&Es Ceuam@Ld.
(A) Qe urfenel

(B) smelen 2wy sawréE

(C). @eL uriteneu

D) @er ureneu

(E) olen QgfRweldvana
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116. Calculate the difference of level for A and B. If the B.S is 1.535 m and

F.Sis 0.795m
(A) 2.330 m (B) 1.740 m
(C) 1.260 m 7 0.740 m

(E) Answer not known
BS = 1535 & wppb F.S = 0.795 8§ eaefleo ‘A’ wpmd ‘Basrar
HeaGapuraLs sarésd(Hs.

(A) 23308 (B) 1.740 8
(C) 1.260.8 : (D) 0.740 S
(E) e Asfiueldame

117. A point on which minus sight and plus sight are taken on a line of direct

levels :
(A) Back sight (B) Inter sight
(C) Changing place @f Change point

(E) Answer not known

@werd urieme wHmIb Yerev LmTemer wHwemes Cory Hoeselar euflasuda
aRssLUBD Lerafl

(A) Qv urrenau (B) @eLw ey

(O @Lbwormb | (D) wrpmid yerefl

(E) e Asfueloama

118. In another name of differential levelling is

- (A) Levelling (B) Check levelling
(C) Longitudinal levelling \V Continuous levelling
(E) Answer not known

UL Geeueli-ar wH@pm@Em Guwi

(A) Qeeuairi (B) sfluniésn Qeeuedm
(C) peQau® Csmhp Qeveueiii (D) Qgr_iédwren Qaeuadn
(E) &ler QsAwelcdrena
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119. The term that the surface which is normal to the direction of gravity at

120.

121.

all points |
(A) Horizontal Surface (B) Horizontal Line
Level Surface (D) Vertical Line

(E) Answer not known

yllber sgref LrL9pE Qeearwurar GgrEigerd urliy @eu@eum@p erafluyb

@wwsHd BHbs FWSMTEEHL QBLILS eran i (Bb.
(A) deggemd (B) fevwi L Car®
©) Qaeeué uiy (D) Qs Caml

(E) elar Qsflweidera

‘Name levelling which uses atmospheric pressure to find the elevation.

(A) Trignometric \(B( Barometric
(C) Hydrometry (D). Check
(E) Answer not known :

o Lies saTdss el e BiWsssms LLETLHSS Dol sieresamar
TRESD PEOD

(A) Trignometric (w&Csremelwe) (B) Barometric (smpmpsseiud)

(C) Hydrometry (amant Crr@uwf&) (D) Check (Qss)

(E) &M Qsflweiidvane

The art of determine the relative heights and varieus points-measure
called

(A) Orientation Mevelling
(C) Centering (D) Surveying
(E) Answer not known

seoqier Gué ugHuilgiarer ue Leteflgafler 2 wrb wWHYID WL L ST Sjerail (b
(G 2GS0 .

A) efuarCLager (B) Qeveuciini

(C) Qeerfm (D) srGeuuQr

(E) oleni G\g,rﬂuaﬁl@m@
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- 122. The relative heights of points are found out by some direct observation is
called

)
v

- (©)
D)

Indirect levelling

Direct levelling

Check levelling
Trigonometrical levelling

(E) Answer not known

GgmfyenLw o wywrer yeataflsamer Cprgwrs LmTsg s&L_Hleusn

Gaveuadli erarliLi(pib.

(A)
(B)
©)
(D)
(E)

wanps Ceveued s
Crmgwrer Qeveuadm

Qss Qeeuels

g MéarmEuc Mé Qaeuaim

allenL QaMweldvena

123. Only the back sight and fore sight readings are taken at every set up of
‘the level in

(A)
V.5
©)
(D)

Check levelling

Fly levelling

Simple levelling
Differential levelling

(E) Answer not known

gaCdeumm Qe @it Qeeualigid, Geruriees  HmD

- (peTuriemeimw L (b THés Qugib.

(A)
(B)
©)
(D)
(E)

DMIT/2022

Qes Qeveuedlmi
Solfemer Qeveuaiimi
A 96ér Qeveuadim
wroul L Geeuadin

dlen_ QgMweldene
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124. IRC has recommended a minimum sight distance is 110m, design speed

125.

is '
W 50Km/H (B) 65 Km/H
(C) 80 Km/H (D) 90 Km/H

(E) Answer not known

IRC-ar ufpgerssiuL. Gopbsuls umrea g 110m, aafld
aueTumssLIULL aursarsdear Geusd

(A)
(©)
(E)

50 Km/H (B) 65 Km/H
80 Km/H . (D) 90 Km/H
en Qgflweidanew

The following are the principles of Road Alignment

(1)
(i1)

(iii)
(1v)

The alignment of the road should be as short as possible

The alignment should cross the railway line, road, bridges at right
angle :

The alignment cross the rivers/canals/streams at place where its
width is maximum.

The alignment should have uneasy zig-zags in the way.

e (i) and (ii) only

(B)
(©)
D)
(E)

(i1) and (iii) only
(iii) and (iv) only
(1) and (iv) only
Answer not known

srene Erewlder Qardreasar areumLMD

(1)
(i1)

(111)

(iv)
(A)
(B)
©)
(D)
(E)

greaufer Eraoliy (pybseuay GnHwgTE Qmss GCoudm@ib

Ereou@éd qullé uTeng, &M, UTBISEMET QeuCaramgder &L &&
Geuar(hLd

Srewln9ed Y NSET/FTOUMUSET/QRMLGET G AHOLD SHEUL_FOTE
Qm&En Qsdle sLbs CauarHibd '

Syl e seLLHD Hé-PréGamens Qanamghés GCeauambid

() whpgd (1) v @b |

(i) womb (111) WL G

(1ii) wpmbd (1) wL G

(1) wpgd (AV) wL B

en Qsflweildena
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126. The shape of camber preferred by fast moving vehicles for road surface is

(A) Straight line camber
(B) Combined camber

M Parabolic camber
(D) Composite camber
(E) Answer not known

Ceusonss QeFdgib UNEATEISERESTE AMWESILGLD FTane Gmﬁ)uqulﬂlﬁ)@ PG
MOWSFNEEHE GlIq6UD GTETET ?

(A) CpiCGar® ewwsgrése

B) Qeanis ewvwsEESD

C) ugaumerw ewLsgIESD

D) &l ® evussIEsD

(E) el Qsflwelldena

127. How much limiting gradient required for hilly terrain as per IRC?

(A) 1in14.3
@2 1in16.7
(C) 1in20
(D) 1in22.3

(E) Answer not known

IRC-@émuy  vooumkstar @LsHHE e Wbl gk FMIGYGMTLD

CaamauiL@ib ?
(A) 1in14.3
B) 1in16.7
© . 1in20
D) 1in22.3

(E) e QsRweferena
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128. Match the following :
(a) Average gradient 1.

(b) Limiting gradient 2.

(c) Floating gradient 3.

(d) Ruling gradient 4.

@ ® @© @
4 3 2 1
® 2 4 1 3
© 1 2 4 3
M 3 1 4 2

(E) Answer not known

GDeraupaiaraipep GUTBSSIS.
(a) sgrefl Cpieflay

(b) ey Coirafley

() Vgmau Cpirgfey

(d) <@ Crisfey

@ 0 @© @
(A) 4 3 2 1
B 2 4 1 3
© 1 2 4 3
D) 3 1 4 2
(E) &Moo Gsfueidame

The permissible gradient in the alignment
of highway

Combination of rise and fall vehicle
maintains the same speed without any
attractive effort and application of the brakes

A gradient never be exceeded in any part of
a road

The total rise or fall between any two points
on the road divided by the road length

1. QOp@eser@dau Hrou@sgsnbdurpg
sigiwdasriu L Cpisfay

2. owia LOHYD SMTPE| s GO@THSS
amsamser 2Gs Cassas LgTollsg abhs
Agomar ppupdl wHmb 9CTEms
Qg &m0 Gedeug)

3. smaalear aps LGHUQID FsNEsTOD

, o eer Cpitaflay

4. sreaulear @ran® @LhsEnsE QoG
o eter QLOTHS 2 W6y DG STHemal
Si5eT HADLSHTSSTH auGss HaLLiug
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129. Choose the right matches from the following :

I. Shoulders -
II. Foot paths . -
ITII. Drive ways -
IV. Parkinglanes -
(A) Iand]II are correct
(B) I andIII are correct
M IT and III are correct
(D) 1II and IV are correct

(E) Answer not known

. The slopes provided to the sides of

earthwork of a road

Provided in Urban roads with heavy
vehicular as well as pedestrains traffic

Connect the highway with commercial
establishment

Provided in urban areas where the volume
of cycle traffic on the road is very high

Wereumeuareupiler sflwmer QurmsskisamaT CspQs0\s.

L.

II.

II.

Iv.

(A)
(B)
(©)
D)
(E)

DMIT/2022

Cagpmedr_rreiv -

BeOLLITenG&eT -

igenTeu euLflgeT -

umsdHns Ceerger —

I opgn IT sflwrenenau

I opmw ITT sfwreraneu
IT wpmud I sAwrarena
IT wpgw IV sfwrereneu
eflen. QgMwelerena

R sraaullan waTGamandE Lidksk s EnsésE
sfleurs SiwwssILID

<ifls sjareller aunsamiisdr 9Gs wrHNwWTS
pLLUTeNg uT&ET 2 6tem BaTLphisafc
Si@wsslLBEpg

auigss Bpearmsdr 2 arar @)L hisamer QgL
Gareter ApHEHETM@ 2 16 @avasslLBADg)

S essdlar CLNsGaTss s 2 arerCa
Sipg Frepauiler parphisaid S@mwssiLGHDng.
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130. Remote sensing system is the earth’s surface which gives off energy in
the form of energy

\(4( Infrared radiation

(B)
©)
D)
(E)

Electromagnetic
Magnetic radiation
Digital radiation
Answer not known

G Qear@imdfler Hevd wlufer ugiy séSuilener
ugeugded QarEEDg.

W)
(B)
©
(D)
(E)

@ensLrrQrl sflieised
cra&_Grr Cusear
Cusear CrigCusen
gL G Cuigen
e Qzflweidhena

131. GIS stands for
| s(ﬂr Geographic Information System

B)
©)
D)
(E)

Geographic Intelligence System
Geographic Information Seismograph ‘
Geographic Infra System

Answer not known

GIS aramugen eflfleurésid

(A)
(B)
(©)
(D)
(E)

yeudwed sseud Bienolil

yedwWwéd yeoarmile] ey .
yahwue fleo ey geaud aeyuLLD
LeuAwed 2 6T SLLamLliL| Denuy

adlen QgMweiidoana

65
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132. The technique of differential positioning is used in
DGPS (B) GIS
(C) OGPS - (D) SMPS
"(E) Answer not known

rCurerdlwued Gurflsafin-o LwuaLESSHILEL AsmPar L Lb
(A) DGPS (B) GIS

(C) OGPS (D) SMPS

(E) e Qsfweldae

133. In which direction it is best to place the total station for obtammg the
best output?

(A) East (B) West

(C) South | @ North

(E) Answer not known

ﬁmpg ey dupeagh@ CLriird @wllsa g aps Haosuia nauLiLg)

Appagi 2
A)  fyse (B) Gupe
©) "Gspe D) ase

(E) efer Qsfwefdana

134. DMS is used for listing
(A) Latitude (B) Longitude
w27 Latitude and Longitude (D) Alidade
(E) Answer not known

DMS gaupdlé erang @;ﬂasélmgj?

(A) <o sCrans A (B) 8rssCGrens
(O <= sGreans g SissCrans (D) @e8GLL
(E) ele Qsfweildrana |
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135. The minimum required satellite to be observed to solve by GPS is
s 4 ®) 3
€ 2 D) 5
(E) Answer not known '

GPS wawn Sreyarar Comauiu@ib Goligool G@DHEULE aanailsms
4) 4 | - (B3

© 2 | D) 5

(E) ol Qsfwallcvana

136. is a standard for use in cartography, Geodesy and
Navigation including GPS.
(A) Satellite system World Geodetic system
(C) Co-ordinate system (D) Polar system

(E) Answer not known

eranug) GvCL T srGLIdyma, gCurGLdl whmub Gpaﬂ@amm—&cﬂw
GPS Gsiigg uweaLhssLLGEDS.
(A) QswperssCarer HenoLIL B) cas @GUJITQI_B}_S S|l
C) gnrudamearss siewl (D) simeu- iemwLiL
(E) ofer Qzfweievena

137. The orbital height for GPS is

(A) 10,000 Km (B) 15,000 Km'
49)/ 20,180 Km - (D) 24,280 Km
(E) Answer not known

GPS &t spmiriurens 2 wifib ereucuera,?

(A) 10,000 &.8 (B) 15,000 4.i5
(C) 20,180 &.8 (D) 24,280 4.5
(E). e Qagflwaiicvane

n 67 DMIT/2022
~ [Turn over



138. The satellite orbits are approximately above earth surface
(A) 12,000 Km %{2,200 Km
(C) 1,200 Km (D) 2,400 Km
(E) Answer not known

Qewperss Camer apmit uregser Lllufear Cupuride Csryruwns
CuCea 2 arerer.

(A) 12,000 4.5 (B) 2,200 £..5
(C) 1,200 &..8 (D) 2,400 &..5
(E) e Qsfualdme

139. In GPS system suitable for land survey.
(A) Geographic system (B) Plane system
Co-ordinate system (D) Map Reading system

(E) Answer not known

8fl..9.erav. smaulena wanpuliler Qurgeuren 1Geu Qaiwemid.
A)  yeNuIwe enwoLiy (B) swger iy
(C) Gar-syigGan HaviLid (D) auemguLib e Lysg Qsmereug

(E) eleor Qsfweidana

140. The sum of inter angleior angle of pentagon is
(A) 270° | (B) 360°

W 540° (D) 720°

(E) Answer not known

Quensafler 2 dr Caramrisailen i Qg Asras
(A) 270° (B) 360°
(C) 540° (D) 720°
(E) eleo QsRwelcranay
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141.

type of quadrilateral has all its four sides equal, but only the

opposite angles are equal.

M Rhombus

(B)
©)
D)
(E)

Rectangle
Rhomboid
Trapezium

Answer not known

THS CUASWLITET BTHSTSEET BenE LIGGRIEMET FOOTEELD, adlir el Camenhser
L (b FOLTSED B(HESLD ?

(A)  smw Egrbd
(B) . Qecueusid
(C) @eeawarbd
(D) sfeusbd
(E) &Moo Gsflwueidame
142. Quadrilaterals of 4 sides and any two sides equals to each
other. '
\ﬁ( Trapezium
(B) Parallelogram
(C) Rhombus
(D) Rectangle
(E) Answer not known
BIH&STD 4 USSESET CaTa@_ FgET LLHHID gCasaid @ramh L&EsnIS6T
REMEQSTETY FOLTE B)(HESLD.
(A) sfeusd
B) @eansyd
(C) smips gD
(D)’ Q&cueusid
(E) o&e Qgflweideana
n 69 DMIT/2022
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143. All sides equal and all angles right angles is

(A) Rectangle ‘ (B) Rhombus
(C) Trapezium Square
(E) Answer not known

CTORT LISSRIG@HD FL0D LHMID eTodar Carammisend QamGaramons @mLrug)
(A) Qsdausnd (B) smusgigw

(C) sfeuswd (D) | EE

(E) e Qsfwefdaa '

-—

144. A triangle having all the three sides unequal and all the three angles are

unequal |
(A) Equilateral triangle mcalence triangle
(C) Isosceles triangle - (D) Right angled triangle

(E) Answer not known

@M% sCaramsdenr @aiQeurm LGS Camemtis@pd GeucuGeuy iateurs

gouug
(A)  swuss WsCsmertid ' (B) <iswuss wsCaramid
C) @ swuss wiCsarambd (D) QsmGsrenr wpa&Camantid

(E) ofer Qsflwefdena

145. The sum of the four angles in a quadrilateral is equal to -
(A) 320° (B) 270°

&7~ 360° (D) 180°

(E) Answer not known

BrpETsAdn preng o Carammtisaien s Hd Qsrens & FWWLTELD.
- (A)  320° : (B) 270°

(C) 360° - (D) 180°

(E) ofer Qsfwefdraned
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146. The type of line used for center line is

(A) Chain thick Chain thin

(C) Dashed thick (D) Dashed thin

(E) Answer not known

QaarTLit enaeT—&E auana Car® LweatuhssubGSng
(A) GQesler §5 (B) Qsuler e

©) Ges® b (D) GLayG Ben

(E) ofar Qgflweiicrena

147. Find out line, The description of B4 i*nBle?ier line
(A) Dashed thin line Continuous thin line
(C) Dashed thick line (D) Chain thin line
(E) Answer not known
Spsanperareupled Bs—ar St Carliyh@ um@mssoreang
(A) GLéy® Quaelw Car® (B) Qgrtrsflurer Qudew Csrl
(C) CLay@p tsdurer Camd (D) Quadlu smfled Car@
(E) e Qzfwelldbana

148. A right angle triangle, the side opposite to right angle is called
(A) Adjacent side ypotenuse
(C) Opposite side (D) Line
(E) Answer not known
QsuCananr paCarasdd QsnCararsddG aTHiruGaid
(A) <@pss6Ter USSD ‘ (B) sfrewid
(C) i ussibd (D) Gsr®
(E) oo Qsflwefdrana

149. The angle of straight line is
(A) Less than 180°
Equal to 180°
(C) More than 180°
(D) Less than or more than 180°
(E) Answer not known
@m Gt Caryer Geramwrang G Q(HESESLD.
(A) 180° 5w G@pauns
(B) 180° &b s -
(C) 180° & Guars
D) 180° @b G@pauTs: ddag Goans
(E) ofer Qsflueidema .
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150. Name of the polygon having 8 sides.
(A) Heptagon _ (B) Hexagon
(C) Undecagon | @f Octagon
(E) Answer not known

8 usastiser 2 e w LwGsTansdar QU eraran?

(A) Heptagon (Q@_ﬂ)m_;sssbr) (B) Hexagon (Qansssen)
(C) Undecagon (wienQLarsaer) (D) Octagon (=&_naan)
(E) ol QsRwefdrena

151. Part of a circle bounded by the arc and chord is
(A) Sector (B) Quadrant

W Segment (D) Semi-circle
(E) Answer not known

L gfle eléd whmib pream Caips LEGH

A) e Lé Csrawr LGS (B) aui s sre Lsd
C) ars gamd usd (D) @er au b

(E) oflen Qsfiweidrenas

152. How many distance if measured with a 20 m chain found 3 CH + 10 links?
A 7M0m (B) 32 m
(C) 92m @7 62 m

(E) Answer not known

20 S Qslen Qa;rrsm@ SAersGbCurg Qupuuce. 3 CH + 10 links
SleteysG A gy ereueueray ?

A 708 (B) 328

C) 928 (D) 62 8

(E) &er Qsfweidana |
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153.

154.

155.

The longest chain line in chain surveying is known as
(A) Check line (B) Survey line
W@ Base line (D) Tie line

(E) Answer not known

Qeuler srGeauuden Qeuwtiu@w We Barwrear Gar

(A)  sflurié@n Car® (B) #iGeu Car()
C) <eiguuen s Car® D) enss Cari
(E) e Gsflweldena

In chain survey the area is divided into
(A) Rectangles | ‘(BrTriangles
(C) Squares (D) Circles

(E) Answer not known

. Qewlen #iGaulér LIFLILETEE | <6 RssLILH DS
(A) Qséueusriser B) waCasnemrmiser
(C) sgiprasar D) aLmser

(E) oo Gsflweiidvena

How much distance the talley in the metric chain?

@ 5m (B) 10 m
(C) 15m (D) 20m
(E) Answer not known

T GmL'_rﬂés‘Gl&uS]asﬂa'.) LrafuQer @eoL i L Bembd
(A) 5.8 B) 108
(C) 158 D) 208
(E) flenL Qgflweldena
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156. Engineering chain is feet long.
(A) 66 s.ggf 100
(C) 150 (D) 180

(E) Answer not known

@erddaflwfn Qeufler ——— g Beraperwig.
(A) 66 (B) 100
(€ 150 (D) 180

(E) e Gsflweldeame

157. A line joining the apex of a triangle to fixed point on the opposite side is
Check line (B) Tie line
(C) Baseline - (D) Tangent line
(E) Answer not known
@@ sGatamsdlar o sflewwybd Siganr @ usshsaid o drer Leraflganar
@aans@b Car
(A) eflunis@gw Carh | (B) e Gsr@®
C) <iguues Gsr® (D) Qs Gan®
(E) &ler Qsfwelerena

158. Wooden open cross staff block of size square.
W 150 mm (B) 160 mm ’
(C) 155 mm (D) 165 mm

(E) Answer not known

@uuer fgre GuLTl sgIT wIsL@mLder deTay

(A) 150 .88 (B) 160 4.5
(C) 155488 (D) 165 4.8
(E) olenL QpAwelidana: |
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159. Type of tape length is elongated when stretched and shortens by sagging
in wind weather
(A) Metric tape - (B) Metallic tape
Cloth tape (D) Invar tape
(E) * Answer not known

aps euesurar GLUuQar Berd Bl liu@n CGurg Serd smpbler Qgmiedarme

G@PEDG ? .
(A) QMg G (B) 2. Gars G
(C) Herg Cu ‘ (D) @anGeuir G

(E) o&flenr Qsflwelerana

160. chain are of 20 m length. They have 100 link with talleys
at every 2m. Each link is of 0.2 m.
0{ Metric chain | (B) Surveyor's chain
(C) Engineer chain ‘ (D) Gunter chain

(E) Answer not known

suflad 20 8 Serepd, @aleum 2 SLLAEGL  Lmedlujen
100 @avertiiser o erarar. @ea@eur g 0.2 B $erd Caram_ama.

(A) QuwLfsé Qeuler - B) sirGeuwit Qeufen

C) @eagdafiur Qeuler (D) san_ir Qeuer

(E) & Qzsflweldvena

161. — is commonly used for measuring offset.
\(4( Linen or cloth tape (B) Metallic tape
(C) Steel tape ' (D) Invar tape

(E) Answer not known

QurgleuTs 108 -aan siemeil LweaTLREDS!-
(A)  arer (=) Hetns Gt (B) Quiirdls Gru
(C) eved G (D) @eneuir GLu
(E) &l Qgfweiereney
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162. How many mirrors are fixed in Indian optical square?
. A 3 (B) 4
©) 6 w2

(E) Answer not known

QB YLy sgITsHD ThEman SaTETTIEH QUTWHSSLILL [DldTeTeT?
A 3 - (B) 4

€ 6 (D) 2

(E) &eor Qsfueioena

163. - 1s the another name of tracing paper method.
(A) Bessel’s method - (B) Graphical method
" Mechanical method - (D) Trial and error method

(E) Answer not known

nCrén ardlg wepuler wHQorm Quwir

(A) Quseaev wep (B) avagsaa weap

©)  Qupdr garp | D) pupdl wpgid Ganp apenp
(E) e&enr QsfRweidrana |

164. The following one of the method is not related to three-point problem.
(A) Tracing paper method (B) Bessel’s graphical method
(C) Lehmann’s method mankine’s method
(E) Answer not known
Spaar_aipBld @m wean wlyedel sarsdnE AsTLiy®Lugda
(A)  ¢Credii grer e (B) Guila’av euenrey qpanp
(C) Gewer apenm (D) grendlenav wperp
(B) o Qsflueldame
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165. Name of the method used in plane table survey similar to that of

compass survey or theodolite.
(A) Resection tﬁraversing
(C) Radiation (D) Intersection

(E) Answer not known

ACur_emel Sowag arbua FiGa GureGea WGaaTGLGer siGauuller Gawiujd

papuller Quwi .
(A) RfQsssenr (B) CigomQeuirdl
(C) CGrigCugen (D) @eniiQesgen

(E) oo Qsfweldee

166. In plane table survey minimum height of tripod stand fix in centering
work . -
More than one meter (B) Less than one meter
(C) Two meter (D) Three meter
(E) Answer not known ‘

FogaT LO@SHU  Hosdd mﬂuuﬁr_-g Qummss GoDHS UL FD
2 WrsSHe Damnss GeuahHib.

Q) em Bt 2wrsdiE G (B) @m S 2 wrsdpe S
(C) @uew® Sroed (D) eparmy S

(BE) ofer Qsflusidma

167. How many types of problem solved by resection method?
4) 4 B 3

wor 2 D) 1

(E) Answer not known

f-Qaseger apuied Sreysmen assman auaauile) sarrLHluiemd?
@ 4 (B) 3

C) 2 D) 1

(E) &er Qzsflwelicdvane .
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168. 1s the medium size of plane table.
(A) 60x60x1.50cm
27 50 x 50 x 1.50 cm
(C) 50 x40 x 1.50 cm
(D) 70 x60x 1.50 cm

(E) Answer not known

AGererr CLilefleir BHSST ety
(A) 60 x 60 x 1.50 Qs..8
(B) 50 x 50 x 1.50 Qe.8
(C) 50x40 x 1.50 Qs..8
(D) 70 x 60 x 1.50 Q&..8
(E) &l QaAweldrena

169. method is used for plbtting the distance, lakes and rivers
“etc.

(A) Radiation
\46( Intersection
(C) Traversing

(D) Resection

(E) Answer not known

. (MIGET OHMID Gertiger Cumen @u_rmasaﬂa) SaTHFIUMTL —————  (PED
LwetLRE g

(A) CrgCusar

(B) @er_rQssager

(C) ygoreurflm

(D) MQszegen

(E) e Gsfweldrena
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170. 1s graphical method of surveying.
(A) Chain
(B) Theodolite
@f Plane Table
(D) Total station
(E) Answer not known

Agribse wpenpuier Qsuiwin@w FiGe
A) srdd
B) SCurieeLr
(©) QCererr GLAer
(D) Qurss Heewid
- (B) e Gsfluddme

171. In a Plane Table survey Alidade is used
(A) For meaéurihg the distance
(B) For marking north direction
(C) For bisecting the object drawing rays
d Orientation of plane table
(E) Answer not known

9Gerar G196t (50561 L@Ss) &Gl SSCLE smailuiar 2 LGursd ‘
(A)  gsms SeTLLFHETE

(B) QUL&ES, Qmému LITIUSHSTS

(O ew yaalaw unigg weruL grelle WALLgHETS

(D) WQWGererr GLQemer @ALETCLager QelicugHETSE

(E) afe Opfuaioms
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172. Optical square is used in — surveying. |

(A) Theodolite
(B) Compass
(C) Plane table

W Chain survey
(E) Answer not known

LG sEED ev@asmuir smell LweTLBSSLEL FrGau
(A) #HGur_ear.

(B) smbuev

(C) swgar GGt

(D) Qsulern #rGeu

(E) e Qsflualdame

173. Instrument use to fix the levelling on the plane table
- (A) Divider
(B) Compass
Sprit level
(D) Plumb -bob

(E) Answer not known

sogaUms &G Gelwyw Cung GCeoedlm Qe ———— 2 LGTERTD
et (b

(A)  geeu

(B) asmbuev

(C) &v9fL Qeveudd

D) sr65 GG

(E) @S]Aam_ Qgfweldene
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174.

According to importance, road carry above 600 vehicles per
day.

' «( Very heavy traffic (B) Heavy traffic
(C) Light traffic (D) Medium traffic
(E) Answer not known '
BIET QRETNISHE 600 UTHETEISERSE G GFogib, —— &rrmco‘@ésa‘;]u_t S
uUTLHSS!
A) ds sfswrer CUTsEGuTSS (B) @dswrer Cursgeurss
(C) QGasrar CGusEeursgl (D) @@peurer CunsGeaursg

175.

176.

(E) &len GsMwefdrena

The road that connect the district head quarters to important city of
other state is called

(A) National Highway | \(BfState Highway

(C) Major district road (D) Village road

(E) Answer not known

LIl L SomLWEsSmS WHNID wIllosHear WaEHwwnear BEISIIL6T @anarTsEWn
&reney

(A) Csflw Ap@HEreTame - (B) wrile QpGEseraa

(C) Quflw wres’ L srene (D) &groyw sreve

(E) e Qgflwelorane

How many Tonnage limit as per day in ‘B’ class National Highway Road?
(A) Above 5000 (B) 1000 to 1500

@7 2500 to 5000 (D) 1500 to 2500

(E) Answer not known

B augriy Csflw Qphigrerena sraneulled BraT Qemiss@ THSman L6 auhL| ?
(A) 5000 Guwe (B) 1000 @pse 1500

(C) 2500 gpser 5000 (D) 1500 s 2500

(E) o&Mer Qsfweloame
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177. The range of camber provided in W.B.M. Road
(A) 1in10to1lin 20 (B) 1in20to 11in 30
‘Wlin30tolin40 (D) 1in40to 1in 50
(E) Answer not known

W.B.M. sravarle aupmsiin@n Gabufer by

A) 10-e 1 s 206 1 eueny (B) 20-& 1 gpged 306 1 auany
(C) 30-& 1 wpsod 400 1 aueny (D) 40-6 1 apged 506 1 auany
(E)  afen Qsflweldvana

178. According to Nagpur plan, Indian roads have been classified in to how
many types?

(A) Three v Tive
(C) Four - (D) Six
(E) Answer not known

Br&T Sl L sdlemg, QBHL FTOQSET TSSO CUMSWITS é]rﬂé‘sasﬂuﬁ.@eﬁmm?
(&) eperp (B) mss

©€)  prens D) 2
(E) eflan Qsflweddana ’

179. are much importance, from the nations defence point of
view.
(A) Rural road | %Border road
(C) Edge road (D) National road
(E) Answer not known
Casélu urgiaTiienu smsdHa Qe H & wadlwusgiaib euriibssl.
(A) oeaps srev@ (B) urri srenew
(C) &Mefiby grene (D) Cregare smene -

(E) ofenr Qsfweleama
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180. Nature of the earth work if the ground level is less than the formation

level?

(A) Earth cutt{ng
@ Earth filling

(C) Earth drilling

(D) Earth levelling

(E) Answer not known

Qaeued uUFleL  &weTLOSSID Gumg umiGuoagyer Qsiw &  G@Deurer
QLrsafie ey souubEs Goua(pib ?

@A)
(B)
(©)
(D)
(E)

war Geul L uubhise
e HlFliLse

weir gianerudHged
wer FLULMSSHISD -

e GQgfweldrane

181. Why the alignment of road should as straight as possible?

@)

©
D)

(E)

To keep the driver alert
Which ensure higher speed to the traffic

Which reduce the speed to the traffic .
Increases the accident

Answer not known

srepeoulan Eganioliy iy bseuay et Grrms @ mss Geauam@ib ?

(A)
(B)
©
D)
(E)

@U Qe assfsmauns masdmss Cauamhibd

@5 CursGaTsssESE ifs Cassas end Geudpg
@& Curs@arsdan Cassms GMDEEDS

alusemg idsf&Eh

e Qgfweldama
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182. A bitumen thin layer applied over an existing bitumen pavement

(A)

Sealer

&7 Seal coat

(©
(D)

(E)

Slide
Skid

Answer not known

aghaaGer o d@rer it perLLTeSuAD @ QoL ST DG EES LweTL(H S eu g

(A)
(B)
©)
(D)
(E)

183. Road connecting towns and cities called a

A4)
(B)
©

Saorr

& CGam
evane(h
aodl

elenL Gg,rﬂu_z@ﬂd)mm-

Country Road
Urban Road
Highway Road

" State Highway Road

(E)

Answer not known

LHOID L6 6T &EmerT

B&JLD

SP&SLLEE DS

A) sarif stee

B) psruyp srere

C) 2wianf sraa

D) wrhe 2 wi eufl srere

(E)

DMIT/2022

aflen Qgsflweldana
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184. ISI in India only the refinery product is termed as

©) Asphalt'
(D) Aggregate
(E) Answer not known

@rdw srestanler Lg s&sHefiy Qeuwiul L Qurmer wiGHn
e a&sLILOEDSI.

(A) QG Ewer

(B) AQuweir

(C) sypevumed
- (D) go

(E) e Qzfwuaideana

is the purpose of the wing wall.
*( Retaining earth
Retaining water

(C) Retaining wood

(D) Retaining sand

(E) Answer not known

@nsms seuisefier Cprasid

(A) wanr sflee sOLLEHES

B) seanator sELUUSHS
(C)  uwrses sGLLEHS

D) vemewe sEULEHE

(E) &len Qsflwaiidens
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186. created central public work department to look after the
work of road.

(A) Lord William Bentic (B) Lord Mayo

" Lord Dalhousie (D) Lord Ripon
(E) Answer not known

e uallsmer sauafllss widu urguamiisgmpaw o (meursdwai
A) er@ dodwun Queiys (B) eomi® Culumr

(C) @ LoGanererd] (D) erir@® Aciuer

(E) e QsAwelcrana

187. IRC for roads is expanded as _
M Indian Roads Congress (B) Indian Roads Committee
(C) Internet Relay Chat (D) International Roads Convention

(E) Answer not known

. erameseaid IRC-6r elfleursasn
A) @pduer sreve sriifyen (B) @bdwen sreva S8 1
C) Qearwu MG Gar (D) siteuCss smena wmhHmid
(E) oflenL Qgfwefeame

188. Road is constructed around the area is called
(A) Ringroad (B) Loop road
M By-pass road (D) Concrete road
(E) Answer not known
Cauml e cufllerw GearuhHdl Q(@@é;asmnm.@rﬂl_gmg seflisg Qedaib LT®SEES,
Q)  alivures ste® (B) daeriureng srave
(C) ©Guss ures st (D) srmudf ures stere
(E) e Ggflwefcrena ’
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189. Faculty temperature and pressure measurement occurs by Wthh source

of error in EDM.
0( Personal (B) Instrumental
(C) Nature (D) Environmental

(E) Answer not known

Cussdy Qeasufleoew womnw Gregr oeeih m.q.6b-0 abs edgwrar Dy

Bapdog
A)  sefluucc (B) smedwins
O Qupes (D) sy

(E) Mo Qsfueidame

190. In total station, for movement of the bubble in spirit level 1s
used.
W’ Viscous fluid | (B) Water
(C) Thermaloil (D) Methanol

(E) Answer not known

CLmiLd ewCLsafld o drar gELLLSHD GBI pé@mgm’@

LweTuh S pgi:
*A)  afevsen SiEmudi (B) senenfi
(C) siwed Huie (D) Qugsame

(B) &er Qsflweidena

191. The formula for principle of operation of EDM is
(A) _ Velocity = Time x Distance  (B) Velocity = Time / Distance
Velocity = Distance / Time (D) Velocity = Speed x Time -
(E) Answer not known

EDM-é&r Qeweun (& Qardrasuien @sHrb ererer?

(A) HawsGausbd = Coyd x Asteway (B) HasCausid = Corb / Osramaay
(C) HasCeusd = Agraeey / Cog (D) HavsGausd = Causb x Cpid
(E) e&ler Qsflweildene
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192. Total station is things to
(A) Theodolite £ mic-roproces'sor
(B) Theodolite + Tape
& Theodolite + EDM
(D) Theodolite — EDM
(E) Answer not known
G L avGLgar eTarLig
(A)  SHCur_eaL + ewsdGrmigrasi
B) HCumemer + CLu
(C) SCum el + .iq.6Tib.
(D) HCuwm_ear. — rF.iq.6eTd.
(E) &l Gsfweidena

193. Road, 1500 to 2500 tonnage limit transportation per day.
(A) State Highway
B) ' Major district
(C) Other district

‘}) National highway
- (B)

Answer not known
BTET QemNI&E Gum@mqggj arsahsaier ae 1500 to 2500 LerGarsy euany
Q&dgubd FTEne

(A) ovrfle QG EHET@

(B) QuAw wreul L sTeme

(C) wow wreul L FTa®
(D) Csflw Qp@OEseTana
(E) &le Qzflweiidvena

DMIT/2022 88 ‘ n



. 194. Choose the wrong matches from

Total station.

1.

2
3.
4

Total station Set
Prism set |
Back sighf set

Data processing

1 and 2 are correct

M 2 and 3 are correct

©
(D)

3 and 4 are correct

1 and 4 are correct

(E) Answer not known

Qaraumn  GLriLd  euGLager

Qummssrismer GCsiTbosHs

1.
2.
3.
4.
(A)
(B)
©
(D)
(E)

G e evCLager Qe

Gfle Qe

Gus engl_ Q&L
G Cgm@gevendim

1 wHmIDd 2 sflwrareal

2 wpyid 3 sflwrearena

3 wpmid 4 sflwrarenel
1 womib 4 sflurarenel

afenL Qzflweildene

the following equipment inventory of

Battery charger
Tribrach
Centering rod

Serial cable

o ugraraigeflar  UlwelmbBE — Seupmer

89

Cuimfl smig
G TATTE
Qaer_Mm gl

ENweé Caer
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195. A instruments is the combination of electronic theodolite and
electronic distance meter.

(A) Digital theodolite \(Bf Total station
(C) Tachometer (D) Telemeter
(E) Answer not known

Blerargy HCwm_eel wHmid Wearay giy L L fer Qevenrhs &me
| A) demergy HCur el (B) GumLé du@pmeirr

(C) GCLGsmS L (D) QLB

(E) o&ler QsNweferana

196. — — instrument permits observing distance and directions from
a single set up. _
(A) Theodolite W7 Total station
(C) Auto level (D) Prismatic compass

(E) Answer not known

2Cr @LsHd mwss FMUsMsLL, Jamssaerub samaranlss ewdEELb

&(medl
A)  HCwrieer (B) G e evGLagen
(C) < Gur Qasud (D) QMevGigs smbLey

(B) oMe Qgfwelerane

197. Among the following a total station-does not directly measures

(A) Horizontal angle Mevel difference
(C) Vertical angle (D) Slope distance
(E) Answer not known

G svBLsafld emreaimeaiarounBled b SieTeyseT aTHSS (WPiqLITg|

(A) dewr Gerewrd (B) Qeeued g1@qarev (Revew Gouguim®)
(C) Qemgsg Camamd (D) smiey Qgreveay

(E) e&ler Qsflueldame
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198. How many kilometer distance measure in single prism?

199.

200.

A) 2-5 ~T2 5
(C) 3-4 (D) 3-6
(E) Answer not known

gpop Lflawsde assmear ACumBLLir girb serel tiuGdog ?
A 2-5 (B) 3-5

(C) 3-4 D) 3-6

(E) e Qsfualdme -

One of the advanced functions in total station is
(A) Batteries
Remote elevation measurements
(C) Microprocessor
(D) Electronic display
(E) Answer not known

G avGLagaflar Cuowul L Qewudurhsefic qerm

(A GuiLAser

(B) Qsrewegnr e.wr serai@ser
(C) manGswe

(D) WerargmaT A
- (E) eflen Qsflueidame

How many classes of total stations were available?
@ 2 v 3

€ 4 MD) 5

(E) Answer not known

CumiLé cvGLeafld QULIESD TSSO UMSSHHT 2 GTETET ?

A 2 . - B) 3
<€ 4 D) 5
(E) &ler Qgfwefdrena

91

DMIT/2022
[Turn over.



SPACE FOR ROUGH WORK

 DMIT/2022 C 92



SPACE FOR ROUGH WORK

93 DMIT/2022
[Turn over



SPACE FOR ROUGH WORK

DMIT/2022 94



SPACE FOR ROUGH WORK

95 DMIT/2022
[Turn over



Register
Number
2022
PAPER —1
DRAUGHTSMAN (CIVIL) (NATIONAL TRADE CERTIFICATE)
(ITI Standard)

Duration : Three Hours] [Total Marks : 300
Read the following instructions carefully before you begin to answer the questions.
IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

2. This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the invigilator within the
first 10 minutes and get it replaced with a complete question booklet. If the defect is reported
after the commencement of the examination, it will not be replaced.

3. Answer all the questions. All the questions carry equal marks.

4. You must write your register number in the space provided on the top right side of this page. Do not
write anything else on the question booklet.

5. An answer sheet will be supplied to you separately by the room invigilator to shade the answers.

Instructions regarding filling of answers etc.. which are to be followed mandatorily, are provided in the
answer sheet and in the memorandum of admission (Hall Ticket).

6. You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question.booklet number, your answer sheet will be invalidated.

7. Each question comprises of five respohses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination, you must hand over your answer sheet to the invigilator, You are allowed to
take the question booklet with you only after the examination is over.

9. You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strlctly
adhered to.

10. In all matters, the English version is final.

11. Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.

DMIT/2022 ' o



	Untitled

